


Probability

M
at

hs
 b
y

A
di

ty
a 

R
an

ja
n 

si
r

Aditya Ranjan (Excise Inspector) Selected gS Selection fnyk,axs  1

Coins Based
1. Two unbiased coins are tossed simultaneously.

Find the probability of getting at most one head?

nks fu"i{k flDds ,d lkFk mNkys tkrs gSaA vf/dre ,d fpr çkIr
djus dh çkf;drk Kkr dhft;s\

(a)
1

2
(b)

1

3

(c)
2

3
(d)

3

4

Sol: (d)
Sample Space = {(H, H), (H, T), (T, H), (T, T)}
Favorable outcomes = {(H,T), (T, H), (T, T)}

P = 
3

4

2. Two unbiased coins are tossed simultaneously.
Find the probability of getting no head?

nks fu"i{k flDds ,d lkFk mNkys tkrs gSaA fpr u gksus dh çkf;drk
Kkr dhft,\

(a)
3

8
(b)

1

4

(c)
1

2
(d)

3

4

Sol: (b)
Sample space = 4 i.e. (H, H), (T, H), (T, T), (H, T)
Favorable outcomes = 1 i.e. (T, T)

P = 
1

4

3. A coin is tossed 3 times. The probability of getting
a head and a tail alternatively is:

,d flDdk 3 ckj mNkyk tkrk gSA ckjh&ckjh ls fpr vkSj iV çkIr
djus dh laHkkouk D;k gS\

(a)
1

4
(b)

1

8

(c)
1

2
(d)

3

8

Sol: (a)
Sample space = {(H, H, H), (H, H, T), (H, T, H), (T,
H, H), (H, T, T), (T, H, T) (T, T, H), (T, T, T)}
Favorable outcomes = [(HTH), (THT)]

P = 
2 1

8 4


4. Three unbiased coins are tossed. What is the
probability of getting at most two heads?

rhu fu"i{k flDds mNkys tkrs gSaA vf/dre nks fpr izkIr djus dh
çkf;drk D;k gS\

(a)
13

4
(b)

1

4

(c)
1

4
(d)

7

8

Sol: (d)

Sample space = [(H, H, H), (H, H, T), (H, T, H), (T,
H, H), (T, H, T), (T, T, H), (H, T, T), (T, T, T)]

Favorable outcomes = 7

At most 2 head i.e., 0 head 1 head & 2 head
included.

P = 
7

8

5. Two unbiased coins are tossed simultaneously.
Find the probability of getting two heads?

fu"i{k :i ls nks flDdksa dks ,dlkFk mNkyk tkrk gSA nks gSM vkus
dh çkf;drk Kkr dhft,\

(a)
1

3
(b)

2

3

(c)
1

2
(d)

1

4

Sol: (d)

Sample space = 22 = 4  [(H, H), (H, T), (T, H), (T, T)]

Favorable outcomes = 1 i.e. (H, H)

P = 
1

4

6. Two unbiased coins are tossed simultaneously.
Find the probability of getting at most one head?

fu"i{k :i ls nks flDdksa dks ,dlkFk mNkyk tkrk gSA vf/d ls
vf/d ,d fpr vkus dh çkf;drk Kkr dhft,\

(a)
3

8
(b)

1

4

(c)
1

2
(d)

3

4

PROBABILITY/izkf;drk
(Practice Sheet With Solution)
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Sol: (d)

Sample space 22 = 4  i.e. [(H, H), (H, T), (T, H), (T, T)]

Favorable outcomes = 3

P = 
3

4

7. Three unbiased coins are tossed together. Find
the probability of getting all heads?

fu"i{k :i ls rhu flDdksa dks ,dlkFk mNkyk tkrk gSA lHkh fpr
vkus dh çkf;drk Kkr dhft,\

(a)
1

4
(b)

1

6

(c)
1

3
(d)

1

8

Sol: (d)

Sample space = 23 = 8

Favorable outcomes = 1 i.e. (H, H, H)

P = 
1

8

8. In tossing three coins at a time, the probability
of getting at least one head is:

,d ckj esa rhu flDds mNkyus ij de ls de ,d fpr vkus dh
çkf;drk gS%

(a)
7

8
(b)

1

2

(c)
1

8
(d)

3

8

Sol: (a)

Sample space = 2 × 2 × 2 = 8

At least 1 head = 1 – P(no head)

P = 1 – 
1

8
= 

7

8

Dice Based
9. A dice is thrown twice and the sum of the

appearing numbers is 10. Then the probability
that the number 5 has appeared at least once is:

,d ikls dks nks ckj iQsadk tkrk gS vkSj vkus okyh la[;kvksa dk ;ksx
10 gSA rc la[;k 5 de ls de ,d ckj vkus dh çkf;drk gS%

(a)
1

4
(b)

1

3

(c)
2

3
(d)

1

2

Sol: (b)

Sample space = (5, 5), (6, 4), (4, 6)

Favorable outcomes = 1

P = 
1

3

10. A pair of fair dice are thrown. What is the
probability that the sum of the numbers on both
the dice is 5?

fu"i{k iklksa dh ,d tksM+h iQsadh tkrh gSA nksuksa gh iklksa dh la[;kvksa
dk tksM+ 5 vk, bldh izkf;drk fdruh gS\

UPSI 13/12/2017 (Shift-03)

(a)
4

36
(b)

1

36

(c)
5

36
(d)

6

36

Sol: (a)

Sample space = 6 × 6 = 36

Favorable outcomes = 4 i.e. {(3, 2), (2, 3), (4, 1), (1, 4)}

P = 
4

36

SMART APPROACH:- 

( )
=

Sum = 5

5 – 1 4
P(Sum5) =

36 36


11. Two dice were thrown at the same time. What
is the probability that the difference between
the marks found between them is ‘1’.

nks iklksa dks ,d le; ij iQsadk x;kA fdruh izkf;drk gS fd
mu nksuksa esa tks vad ik, x, muesa varj ‘1’ gksA

UPSI 22/12/2017 (Shift-01)

(a)
5

18
(b)

1

6

(c)
5

36
(d)

1

4
Sol: (a)

Sample space = 36
Favorable outcomes = 10
i.e. [(1, 2) (2, 3) (3, 4) (4, 5) (5, 6), (2, 1) (3, 2), (4, 3)
(5, 4), (6, 5)]

 
10 5

P = 
36 18

 

12. In a single throw of a dice, what is the probability
of getting a number greater than 4 ?

,d ikls dks ,d ckj iQsadus ij 4 ls vf/d la[;k çkIr gksus dh
çkf;drk D;k gS\

(a)
1

2
(b)

1

3

(c)
2

3
(d)

1

4
Sol: (b)

Number greater than 4 is 5 and 6.
So, Favorable outcomes = 2 i.e. (5,6)
Sample space = 6 i.e. (1, 2, 3, 4, 5, 6)

P =
2 1

6 3

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13. An unbiased dice is thrown. What is the
probability of getting an even number?

,d fu"i{k iklk iQsadk tkrk gSA le la[;k çkIr gksus dh çkf;drk
D;k gS\

(a)
1

2
(b)

2

5

(c)
1

3
(d)

2

3

Sol: (a)

Favorable outcomes = 3 i.e. (2, 4, 6)

Sample space = 6 i.e. (1, 2, 3, 4, 5, 6)

P = 
3 1

6 2


14. In a simultaneous throw of pair of dice, find the
probability of getting the total more than 7.

iklksa ds ,d tksM+s dks ,d lkFk iQsadus ij dqy ;ksx 7 ls

vf/d vkus dh çkf;drk Kkr dhft,A

(a)
1

2
(b)

5

12

(c)
7

12
(d)

3

12

Sol: (b)

Total cases = 6 × 6 = 36

Favorable cases = (2, 6), (3, 5), (3, 6), (4, 4), (4,
5), (4, 6), (5, 3), (5, 4), (5, 5), (5, 6), (6, 2), (6, 3),
(6, 4), (6, 5), (6, 6) = 15

P = 
15

36
 = 

5

12

15. In a simultaneous throw of two dice, what is the
probability of getting a doublet?

nks iklksa dks ,d lkFk iQsadus ij nksuksas iklksa ij leku la[;k vkus dh
çkf;drk D;k gS\

(a)
1

6
(b)

1

4

(c)
2

3
(d)

3

7

Sol: (a)

Favorable outcomes = (1, 1), (2, 2), (3, 3), (4, 4),
(5, 5), (6, 6) = 6

Sample sapce = 36

P = 
6

36
 = 

1

6

16. In a single throw of two dice, find the probability
that neither a doublet nor a total of 8 will appear.

nks iklksa dks ,d ckj iQsadus ij bldh çkf;drk Kkr dhft, fd u
rks ,d Hkh nksgjk vkSj u gh dqy la[;k dk ;ksx 8 vk,xkA

(a)
7

15
(b)

5

18

(c)
13

18
(d)

3

16

Sol: (c)

Favorable outcomes = (1, 1), (2, 2), (3, 3), (4, 4),
(5, 5), (6, 6), (2, 6), (3, 5), (5, 3), (6, 2) = 10

= 36 – 10 = 26

Sample space = 36

P = 
26

36
 = 

13

18

Playing Cards Based
17. Two cards are drawn from a pack of 52 cards. The

probability that out of 2 cards, one card is red and
one card is black is:

52 iÙkksa dh ,d xîóh ls nks iÙks fudkys tkrs gSaA 2 dkMks± esa ls ,d
dkMZ yky vkSj ,d dkMZ dkyk gksus dh çkf;drk gS%

(a)
1

2
(b)

13

25

(c)
25

51
(d)

26

51

Sol: (d)

When, one card is black = 26C
1

When, one card is Red = 26C
1

A.T.Q,

Sample space = 52C
2

Favorable outcomes = 26C
1
 × 26C

1

26 26
1 1

52
2

C × C 26×26 26
P = = =

26×51 51C

18. A bag contains cards numbered between 33 and
92. If one card is drawn from the bag, the
probability that the number on the drawn card is
a perfect square is:

,d cSx esa 33 vkSj 92 ds chp la[;k okys dkMZ gSaA ;fn cSx ls ,d
dkMZ fudkyk tkrk gS] rks fudkys x, dkMZ ij la[;k iw.kZ oxZ gksus
dh izkf;drk gS%

(a)
5

59
(b)

4

59

(c)
1

15
(d)

1

12
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Sol: (c)

Sample space = Total numbers between 33 and 92

= (92 – 33) + 1 = 59 + 1 = 60

Favorable outcomes = Total numbers of square
numbers = 4(36, 49, 64, 81)

P = 
4 1

60 15


19. Kings and Queens of black colour are taken out
from a pack of 52 playing cards. A card is drawn
from the remaining well-shuffled cards.
Probability of getting a spade card is:

dkys jax ds jktk vkSj jkuh dks 52 rk'k ds iÙkksa dh ,d xîóh ls
fudkyk tkrk gSA 'ks"k vPNh rjg ls iQsaVs x, dkMks± esa ls ,d dkMZ
fudkyk tkrk gSA gqdqe dk iÙkk çkIr djus dh çkf;drk gS%

(a)
1

4
(b)

11

13

(c)
11

48
(d)

11

52

Sol: (c)

Total number of cards after removing king and
queen of black colour = 52 – 4 = 48

Remaining spade card = 13 – 2 =11

Required probability =
11

48

20. The probability of drawing a red card from a pack
of playing cards is:

rk'k •syus ds Msd ls yky dkMZ •hapus dh izkf;drk D;k gS\

(a)
2

18
(b)

1

13

(c)
1

4
(d)

1

2

Sol: (c)

Favorable outcomes (Total No. of red cards) = 26

Sample space = 52

P = 
13 1

52 4


21. One card is drawn at random from a pack of 52
cards. What is the probability that the card drawn
is a face card?

52 iÙkksa dh ,d xîóh esa ls ;kǹfPNd :i ls ,d iÙkk fudkyk tkrk
gSA bldh D;k çkf;drk gS fd fudkyk x;k dkMZ ,d iQsl dkMZ gS\

(a)
1

13
(b)

3

13

(c)
9

52
(d)

3

52

Sol: (b)

Favorable outcomes (total face card) = 12

Sample sapce = 52

P =
12 3

52 13


22. One card is drawn from a pack of 52 cards, each
of the 52 cards being equally likely to be drawn.
Find the probability that the card drawn is red
and a king?

52 iÙkksa dh xîóh esa ls ,d iÙkk fudkyk tkrk gS] 52 iÙkksa esa ls çR;sd
ds fudkys tkus dh laHkkouk leku gksrh gSA çkf;drk Kkr dhft,
fd fudkyk x;k dkMZ yky vkSj ckn'kkg gS\

(a)
1

22
(b)

1

39

(c)
1

26
(d)

2

51

Sol: (c)

Favorable outcomes = 2

Sample space = 52

P =
2 1

52 26


23. From a pack of 52 cards,two cards are drawn
together at random. What is the probability of both
the cards being kings?

52 iÙkksa dh ,d xîóh esa ls ;kǹfPNd :i ls nks iÙks ,d lkFk fudkys
tkrs gSaA nksuksa dkMks± ds ckn'kkg gksus dh çkf;drk D;k gS\

(a)
1

15
(b)

25

57

(c)
35

256
(d)

1

221

Sol: (d)

Favorable outcomes = 4C
2

4 3 2

2 2

 



 = 6

Sample space = 52C
2 
= 

52 51 50!

50! 2

 


= 26 × 51

P = 
4

2

52
2

C

C
 =

6 2

26 51 26 17


 
  = 

1 1

13 17 221




24. Two cards are drawn from a pack of well shuffled
cards. Find the probability that one is a club and
other is King.

vPNh rjg ls iQsaVs x, iÙkksa dh ,d xîóh ls nks iÙks fudkys tkrs gSaA
çkf;drk Kkr dhft, fd ,d fpM+h gS vkSj nwljk ckn'kkg gksA

(a)
1

52
(b)

1

26

(c)
1

13
(d)

1

2
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Sol: (b)

Favorable outcomes = 13 3
1 1C C

Sample space = 52C
2

 P =

13 3
1 1

52
2

C C

C


= 

1

26

25. From a pack of 52 cards, one card is drawn at
random. What is the probability that the card
drawn is a ten or a spade?

52 rk'k ds iÙkksa ds ,d iSdsV esa ls ,d iÙkk ;kǹPN;k fudkyk tkrk
gSA bldh D;k çkf;drk gS fd fudkyk x;k iÙkk nl ;k ,d gqdqe
dk iÙkk gSA

(a)
4

13
(b)

1

4

(c)
1

13
(d)

1

26

Sol: (a)

Favorable outcomes = (13 + 3) = 16

Sample space = 52

then,

16 4
P = =

52 13

26. One card is drawn from a pack of 52 cards,each
of the 52 cards being equally likely to be drawn.
Find the probability that the car drawn is an ace?

52 iÙkksa dh ,d xîóh esa ls ,d iÙkk fudkyk tkrk gS] 52 iÙkksa esa
ls çR;sd ds fudkys tkus dh laHkkouk leku gSA fudkyk x;k iÙkk
,d bDdk gksus dh çkf;drk Kkr dhft,A

(a)
1

12
(b)

1

13

(c)
2

13
(d)

3

28

Sol: (b)

Favorable outcomes = 4

Sample space = 52

then,

4 1
P = =

52 13

27. One card is drawn from a pack of 52 cards,each
of the 52 cards being equally likely to be drawn.
Find the probability that the card drawn is either
red or king?

52 iÙkksa dh ,d xîóh esa ls ,d iÙkk fudkyk tkrk gS] 52 iÙkksa çR;sd
ds fudkys tkus dh laHkkouk leku gSA fudkys x, iÙks ds ;k rks yky
;k jktk gksus dh çkf;drk Kkr dhft, \

(a)
1

17
(b)

1

2

(c)
7

13
(d)

2

51

Sol: (c)

Note: The 26 red cards include 2 kings so there

are 2 more kings left.

Favorable outcomes = (26 + 4) – 2 = 28

Sample space = 52

then,

28 7
P = =

52 13

28. One card is drawn from a pack of 52 cards, each
of the 52 cards being equally likely to be drawn.
Find the probability that the card drawn is 10' of
a black suit?

52 iÙkksa dh ,d xîóh esa ls ,d iÙkk fudkyk tkrk gS] 52 iÙkksa esa
ls çR;sd ds fudkys tkus dh laHkkouk leku gSA fudkys x;s iÙks ds
,d dkys jax ds iÙksa dk 10* gksus dh çkf;drk Kkr dhft, A

(a)
3

28
(b)

5

26

(c)
1

26
(d)

1

13

Sol: (c)

Favorable outcomes = 2

Sample space = 52

then,

2 1
P = =

52 26

29. What is probability of drawing two clubs from a
well shuffled pack of 52 cards?

52 dkMZ ds ,d vPNh rjg ls iQsjcny gq, iSd ls nks Dycksa dks
•hapus dh izkf;drk D;k gS\

(a)
13

51
(b)

1

17

(c)
1

26
(d)

13

17

Sol: (b)

Favorable outcomes = 13C
2

Total no. of outcomes = 52C
2

then,

13
2

52
2

C 13 ×12 1
P = =

2C 17
52 51

2




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Balls/Marbals Based

30. A box contains 6 white balls and 7 black balls.
Two balls are drawn at random. What is the
probability the both of them are of different
colours?

,d fMCcs esa 6 liQsn xsansa vkSj 7 dkyh xsansa gSaA nks xsansa ;kn`fPNd
:i ls fudkyh tkrh gSaA bldh D;k çkf;drk gS fd os nksuksa
vyx&vyx jax ds gksa\

(a)
4

13
(b)

2

13

(c)
6

13
(d)

7

13

Sol: (d)

Favorable outcomes = 6C
1 
× 7C

1

Total no. of outcomes = 13C
2

P = 

6 7
1 1

13
2

C C

C


 = 

6 7 7

13 6 13






31. A box contains 2 black, 6 green and 4 yellow balls.
If 2 balls are picked up at random, the probability
that both are green-coloured is:

,d fMCcs esa 2 dkyh] 6 gjh vkSj 4 ihyh xsansa gSaA ;fn 2 xsansa ;kǹfPNd
:i ls mBkbZ tkrh gSa] rks nksuksa ds gjs jax dh gksus dh çkf;drk gS%

(a)
5

22
(b)

1

22

(c)
1

22
(d)

3

11

Sol: (a)

Favorable outcomes = 6C
2

Total no. of outcomes = 12C
2

P = 

6
2

12
2

C 5

22C


32. An urn contains 10 black and 5 white balls. Two
balls are drawn from the urn one after the other
withour replacement. What is the probability that
both drawn balls are black?

,d dy'k esa 10 dkyh vkSj 5 liQsn xsansa gSaA fcuk fdlh çfrLFkkiu
ds dy'k ls ,d ds ckn ,d nks xsansa fudkyh tkrh gSaA bldh D;k
çkf;drk gS fd nksuksa fudkyh xbZ xsansa dkyh gSa\

(a)
2

7
(b)

3

7

(c)
4

7
(d)

5

7

Sol: (b)

Probability that both drawn balls are black

= 
10 9 3

15 14 7
 

33. A bag contains 2 red, 3 green and 2 blue balls.
Two balls are drawn at random. What is the
probability that none of the balls drawn is blue?

,d cSx esa 2 yky] 3 gjh vkSj 2 uhyh xsansa gSaA nks xsansa ;kn`fPNd :i
ls fudkyh tkrh gSaA bldh D;k çkf;drk gS fd fudkyh xbZ dksbZ Hkh
xsan uhyh ugha gS\

(a)
10

21
(b)

6

21

(c)
10

14
(d)

5

7

Sol: (a)
Total balls = 7 i.e. (2 red , 3 green and 2 blue)
If we draw 2 balls and want no blue ball, that
means the balls drawn must be either red or
green.

Favourable outcomes = 
5

2

5 4
C 10

1 2


 


Total outcomes = 7C
2
 =

7 6
21

1 2






Required probability 
10

21


34. A bag contains balls numbere 1, 2, 3.........20. One
ball is drawn from the bag at random. What is
the probability that the number on the balls drawn
is divisible by 3 or 5?

,d cSx esa 1] 2] 3---------20 Øekafdr xsansa gSaA cSx ls ;kn`fPNd :i
ls ,d xsan fudkyh tkrh gSA bldh D;k çkf;drk gS fd fudkyh xbZ
xsanksa ij la[;k 3 ;k 5 ls foHkkT; gS\

(a)
2

5
(b)

1

2

(c)
9

20
(d)

1

10

Sol: (c)

Total numbers = 20

Multiple of 3 between 1 and 20 = 6

Multiple of 5 between 1 and 20 = 4

Common multiple of 3 and 5 = 1 i.e. (15)

Favorable outcomes = 6 + 4 – 1 = 9

Required probability =
9

20

35. A box contains 6 white, 2 black and 3 red balls. If
a balls is drawn at random, what is the probability
that it will not be white.

,d fMCcs esa 6 liQsn] 2 dkyh vkSj 3 yky xsansa gSaA ;fn ,d xsan
;kn`fPNd :i ls fudkyh tkrh gS] rks bldh D;k çkf;drk gS fd
og liQsn ugha gksxhA

(a)
5

6
(b)

6

5

(c)
5

11
(d)

6

11
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Sol: (c)

The probability that the ball will not be white = 
5

11

36. A bag contains balls numbered 1, 2, 3,........30.
One ball is drawn from the bag at random. What
is the probability that the number on the ball
drawn is divibible by 4 or 6?

,d cSx esa 1] 2] 3]------30 Øekafdr xsansa gSaA cSx ls ;kn`fPNd :i
ls ,d xsan fudkyh tkrh gSA bldh D;k çkf;drk gS fd fudkyh xbZ
xsan ij vafdr la[;k 4 ;k 6 ls foHkkT; gS\

(a)
1

15
(b)

1

3

(c)
3

10
(d)

2

5

Sol: (b)

Total number of balls = 30

Multiple of 4 between 1 and 30 = 7

Multiple of 6 = 5

Common multiple of 4 and 6 = 2(12, 24)

Favorable outcomes = 7 + 5 – 2 = 10

Required probability =
10 1

30 3


37. A bag contains 6 black and 8 white balls. One
ball is drawn at random. What is the probability
that the ball drawn is white

,d cSx esa 6 dkyh vkSj 8 liQsn xsansa gSaA ,d xsan ;kǹfPNd :i ls
fudkyh tkrh gSA bldh D;k izkf;drk gS fd fudkyh xbZ xsan liQsn gS\

(a)
3

4
(b)

4

7

(c)
1

8
(d)

3

7

Sol: (b)

Favorable outcomes = 8

Total no. of outcomes = 14

P = 
8 4

14 7


38. A box contains 4 red balls, 5 green balls and 6
white balls. A ball is drawn at random from the
box. What  is the probability that the ball drawn
is either red or green?

,d fMCcs esa 4 yky xsansa] 5 gjh xsansa vkSj 6 liQsn xsansa gSaA ckWDl ls
;kn`fPNd :i ls ,d xsan fudkyh tkrh gSA bldh D;k izkf;drk gS
fd fudkyh xbZ xsan ;k rks yky ;k gjh gS\

(a)
2

5
(b)

3

5

(c)
1

5
(d)

7

15

Sol: (b)
Favorable outcomes = (4 + 5) = 9
Total no. of outcomes = 15

P 
9 3

15 5
 

39. In a box, there are 8 red, 7 blue and 6 green
balls. One ball is picked up randomly. What is
the probabi lity that it is neither red or green?
,d fMCcs esa 8 yky] 7 uhyh vkSj 6 gjh xsansa gSaA ,d xsan ;kn`fPNd
:i ls mBkbZ tkrh gSA bldh D;k izkf;drk gS fd ;g u rks yky gS
vkSj u gh gjk\

(a)
1

3
(b)

3

4

(c)
7

19
(d)

8

21
Sol: (a)

Favorable outcomes = 7
Total no. of outcomes = 21

P =
7 1

21 3


40. A bag contains 6 white and 4 red balls. Three
balls are drawn at random. What is the probability
that one ball is red and the other two are white?
,d cSx esa 6 liQsn vkSj 4 yky xsansa gSaA rhu xsansa ;kn`fPNd :i ls
fudkyh tkrh gSaA bldh D;k izkf;drk gS fd ,d xsan yky gS vkSj
ckdh nks liQsn gSa\

(a)
1

2
(b)

1

12

(c)
3

10
(d)

7

12
Sol: (a)

Favorable outcomes = 4C
1
 × 6C

2
Total no. of outcomes = 10C

3

P = 
4 6

1 2

10
3

C C

C


 = 

4×6×5
60 12

10 9 8 120 2

3 2

 
 


41. A bag contains 4 white, 5 red and 6 blue balls.

Three balls are drawn at random from the bag.
The probability that all of them are are red is:
,d cSx esa 4 liQsn] 5 yky vkSj 6 uhyh xsansa gSaA cSx ls ;kn`fPNd
:i ls rhu xsansa fudkyh tkrh gSaA muesa ls lHkh ds yky gksus dh
izkf;drk gS%

(a)
1

22
(b)

3

22

(c)
2

91
(d)

2

77
Sol: (c)

Favorable outcomes = 5C
3

Total no. of outcome = 15C
3

P = 
5

3

15
3

C

C

5 4 3 60 2 2

3 2 210 13 7 13 91
15 14 13

3 2

 
   

  
 


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42. A bag contains 3 red and 2 blue marbles. A marble
is drawn at random. What is the probability of
drawing a blue marble?

,d FkSys esa 3 yky vkSj 2 uhys ekcZy gSaA ,d ekcZy ;kn`fPNd :i
ls fudkyk tkrk gSA uhyk ekcZy fudkyus dh izkf;drk D;k gS\

(a)
2

3
(b)

2

5

(c)
1

4
(d)

3

5

Sol: (b)

Favorable outcomes = 2

Total no. of outcomes = 5

P =
2

5

43. It is known that a box of 600 electric bulbs
contains 12 defective bulbs. One bulb is taken
out at random from this box. What is the probability
that it is a non-defective bulb?

;g Kkr gS fd 600 fctyh ds cYcksa ds ,d fMCcs esa 12 [kjkc cYc
gSaA bl fMCcs esa ls ,d cYc ;kn`fPNd :i ls fudkyk tkrk gSA bl
cYCk ds [kjkc u gksus dh izkf;drk D;k gS\

(a) 0.02 (b) 0.45

(c) 0.65 (d) 0.98

Sol: (d)

Favorable outcomes = 588

Total no. of outcomes = 600

P =
588

600
= 0.98

44. A bag contains 5 red balls, 8 white balls, 4 green
balls and 7 black balls. If one ball is drawn at
random, find the probability that it is black?

,d FkSys esa 5 yky xsansa] 8 liQsn xsansa] 4 gjh xsansa vkSj 7 dkyh xsansa
gSaA ;fn ,d xsan ;kn`fPNd :i ls fudkyh tkrh gS] rks blds dkyh
gksus dh izkf;drk Kkr dhft,A

(a)
7

24
(b)

1

3

(c)
7

23
(d)

7

25

Sol: (a)

Favorable outcomes = 7

Total no. of outcomes  = 24

P =
7

24

45. A bag contains 12 balls out of which x are white.
If 6 more white balls are put in the bag, the
probability of drawing a white ball will be double
than that in first . Find x?

,d FkSys esa 12 xsansa gSa ftuesa ls x liQsn gSaA ;fn cSx esa 6 liQsn xsansa
vkSj Mky nh tkrh gSa] rks ,d liQsn xsan fudkyus dh izkf;drk] igys
dh rqyuk esa nksxquh gksxhA x Kkr dhft;sA

(a) 2 (b) 1

(c) 3 (d) 6

Sol: (c)

A.T.Q,

= 2
12

 
  

x
 = 

6

18

x

= 2(3x) = 2x + 12

= 4x = 12

x = 3

46. A box contains 6 white balls and 7 black balls.
Two balls are drawn at random. What is the
probability  white balls?

,d fMCcs esa 6 liQsn xsansa vkSj 7 dkyh xsansa gSaA nks xsanksa dks ;kǹfPNd
:i ls fudkyk tkrk gSA liQsan xsan fudkys dh izkf;drk D;k gS

(a)
4

13
(b)

2

13

(c)
6

13
(d)

1

13

Sol: (d)

Favorable outcomes = 6C
1

Total no. of outcomes = 13C
2

P = 
6 1

13 6 13




47. A box contains 2 black, 6 green and 4 yellow balls.
If 2 balls are picked up at random, the probability
that both are green-coloured is:

,d fMCcs esa 2 dkyh] 6 gjh vkSj 4 ihyh xsansa gSaA ;fn 2 xasnksa dks
;kn`fPNd :i ls mBk;k tkrk gS] rks nksuksa ds gjs jax ds gksus dh
izkf;drk gS%

(a)
5

22
(b)

1

22

(c)
1

22
(d)

3

11

Sol: (a)

Favorable outcomes = 6C
2

Total no. of outcomes = 12C
2

P = 
6

2

12
2

C

C
= 

6 5
302

12 11 12 11
2




 

 = 
5

22
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Venn diagram Based

48. In an entrance test that is graded on the basis of
two examinations, the probability of a randomly
chosen student passing the first examination is
0.8 and the probability of passing the second
examination is 0.7. The probability of passing
atleast one of them is 0.95. What is the probability
of passing both?

,d izos'k ijh{kk esa] ftls nks ijh{kkvksa ds vk/kj ij oxhZd`r fd;k
tkrk gS] ;kn`fPNd :i ls pqus x, Nk=k dh igyh ijh{k mÙkh.kZ djus
dh izkf;drk 0-8 gS vkSj nwljh ijh{kk mÙkh.kZ djus dh izkf;drk 0-
7 gSA muesa ls de ls de ,d ds mÙkh.kZ gksus dh izkf;drk 0-95 gSA
nksuksa ds mÙkh.kZ gksus dh izkf;drk D;k gS\
(a) 0.65 (b) 0.55

(c) 0.50 (d) 0.60
Sol: (b)

0.8 0.7

ba

c

1
st 2nd

Let,
1st onlyexam = a
2nd only  exam = b
both exam = c
A.T.Q,
a + b +2c = 0.7 + 0.8 = 1.5
Given that = a + b + c = 0.95
then,
c = (1.5 – 0.95) = 0.55

49. The probability that a student will pass the final
examination in both English and Hindi is 0.5 and
the probability of passing neither is 0.1. If the
probability of passing the English examination
is 0.75, what is the probability of passing the Hindi
examination ?

,d Nk=k ds vaxzsth vkSj fganh nksuksa esa vafre ijh{kk mÙkh.kZ djus dh
izkf;drk 0-5 gS vkSj nksuksa esa ls fdlh esa Hkh mÙkh.kZ u gksus dh laHkkouk
0-1 gSA ;fn vaxzsth ijh{kk mÙkh.kZ djus dh izkf;drk 0-75 gS] rks fganh
ijh{kk mÙkh.kZ djus dh izkf;drk D;k gS\
(a) 0.60 (b) 0.65

(c) 0.70 (d) 0.55
Sol: (b)

0.25

0.5

English Hindi

both


The probability of passing neither = 0.1
Probability of passing hindi exam
= 1 – (0.1 + 0.75) + 0.5

= .15 + 0.5 = 0.65

50. Two students karan and Anjali appeared in an
examination. The probability that karan will qualify
the examination is 0.05 and that Anjali will qualify
the examination is 0.10. The probability that both
will qualify the examination is 0.02. Find the
probability that Both karan and Anjali will not qualify
the examination.

nks Nk=k dju vkSj vatyh ,d ijh{kk esa mifLFkr gq,A dju ds
ijh{kk mÙkh.kZ djus dh izkf;drk 0-05 gS vkSj vatyh ds ijh{kk
mÙkh.kZ djus dh izkf;drk 0-10 gSA nksuksa ds ijh{kk mÙkh.kZ djus dh
izkf;drk 0-02 gSA izkf;drk Kkr dhft, fd dju vkSj vatyh nksuksa
mÙkh.kZ ugha djsaxsA

(a) 0.87 (b) 0.86

(c) 0.88 (d) 0.89

Sol: (a)

0.03
0.02

Karan Anjali

both


0.08

Required probability = 1 – 0.13 = 0.87
51. Two students Ajay and Rani appeared in an

examination. The probability that Ajay will qualify
the examination is 0.05 and that Rani will qualify
the examination is 0.10. The probability that both
will qualify the examination is 0.02. Find the
probability that atleast one of them will not qualify
the examination.

nks Nk=k vt; vkSj jkuh ,d ijh{kk esa mifLFkr gq,A vt; ds ijh{kk
mÙkh.kZ djus izkf;drk 0-05 gS vkSj jkuh ds ijh{kk mÙkh.kZ djus dh
izkf;drk 0-10 gSA nksuksa ds ijh{kk mÙkh.kZ djus dh izkf;drk 0-02 gSA
izkf;drk Kkr dhft, fd muesa ls de ls de ,d ijh{kk mÙkh.kZ ugha
djsxkA
(a) 0.98 (b) 0.97

(c) 0.96 (d) 0.95
Sol: (a)

0.03
0.02

Ajay Rani

both


0.08

Required probability = 1 – 0.02 = 0.98

52. In class 11 of a school, 40 students opted for

Physics, 17 for Biology and 20 for Chemistry. If

the total number of students in class 11 was 60,

and all these students chose at least one of the

three subjects mentioned here, and exactly five

of these students chose all the three subjects,

then what is the probability that A randomly

selected student of class 11 of the school will

have chosen exactly one subject out of these

three subjects?
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,d fo|ky; dh d{kk 11 esa] 40 Nk=kksa us HkkSfrd foKku] 17 us

tho foKku vkSj 20 us jlk;u foKku fo"k; pqukA ;fn d{kk 11

esa Nk=kksa dh dqy la[;k 60 Fkh] vkSj bu lHkh Nk=kksa us ;gka of.kZr
rhu fo"k;ksa esa ls de ls de ,d fo"k; pquk] vkSj buesa ls Bhd

ikap Nk=kksa us lHkh rhu fo"k; pqus] rks bl ckr dh D;k çkf;drk

gS fd bl Ldwy ds d{kk 11 ds ,d ;kn`fPNd :i ls pqus x,

Nk=k us bu rhu fo"k;ksa esa ls Bhd ,d fo"k; pquk gksxk\
SSC CHSL TIER II 26/06/2023

(a) 0.85 (b) 0.90

(c) 0.75 (d) 0.80

Sol: (d)

5

Physics Biology

40 17

20
Chemistry

g

Only

a Only

Both
Both

Only

d b

f e

c

Both

For understanding

Given that,
a + b + c (d + e + f) + g = 60
f + a + d + g + b + d + g + e + c + f + g + e = 77
60 + 2g + d + e + f = 77
2g + d + e + f = 17
d + e + f = 7
a + b + c = 60 – 12 = 48

Required probability =
48 4

0.80
60 5
 

53. In class 10 of a school, 13 students opted for only
Badminton, 10 opted for only Table Tennis and
12 for only Volleyball. If the total number of
students in class 10 was 55 and students who
opted for only badminton and table tennis are x ,
who opted for only table tennis & Volleyball are x
and who opted for only Badminton & Volleyball
are x-3.
Students who opted for all of these are x+3.
(a) Find the probability the selected member did
not choose volleyball.

,d Ldwy dh d{kk 10 esa] 13 Nk=kksa us dsoy cSMfeaVu pquk] 10 us
dsoy Vscy Vsful pquk vkSj 12 us dsoy okWyhckWy pqukA ;fn d{kk 10
esa Nk=kksa dh dqy la[;k 55 Fkh vkSj dsoy cSMfeaVu vkSj Vscy Vsful
dks pquus okys Nk=k x gSa] ftUgksaus dsoy Vscy Vsful vkSj okWyhckWy dks
pquk Fkk os x gSa vkSj ftUgksaus dsoy cSMfeaVu vkSj okWyhckWy dks pquk
Fkk os x gSa vkSj ftUgksaus dsoy cSMfeaVu vkSj okWyhckWy dks pquk Fkk os
x – 3 gSaA bu lHkh dks pquus okys Nk=k x – 3 gSaA
(a) izkf;drk Kkr dhft, fd p;fur lnL; us okWyhckWy ugha pqukA

(a)
35

60
(b)

42

55

(c)
28

60
(d)

27

59

Sol: (c)

g

a d b

f e

c

For understanding

x

x + 3

x – 3

13

12

10

x

B T

L

a + b + c + d + e + f + g = 55

d + e + f + g = 20

x + x + x – 3 + x + 3 = 20

4x = 20

x = 5

Favorable outcomes = 28

Total no. of outcomes = 60

Then,

P = 
28

60

Miscellaneous Questions

54. If 9 students are standing on a circular path, then
the probability that 2 of them are always standing
together

;fn 9 Nk=k òÙkkdkj iFk ij •M+s gSa] rks izkf;drk gS fd muesa ls 2 ges'kk
,d lkFk •M+s gksa

(a)
1

4
(b)

2

7

(c)
7

8
(d)

1

3

Sol: (a)

Total arrangement of 9 students in a circle = 8!

Total number of arrangements formed when two
students are always together = 7! × 2

Probability =
7! 2 1

8! 4




55. A man is known to speak truth 3 out of 4 times.
He throws a dice and reports that it is a six. Find
the probability that it is actually a six.

,d vkneh 4 esa ls 3 ckj lp cksyus ds fy, tkuk tkrk gSa og iklk
iQsdrk gS vkSj fjiksVZ djrk gS fd ;g NDdk gSA bldh izkf;drk Kkr
dhft, fd ;g okLro esa NDdk gSA

(a)
3

8
(b)

7

8

(c)
4

8
(d)

1

8
Sol: (a)

P

P(T)
3 1

, P(T)
4 4

 

Probility 
1

6
6

 , 
5

P(6)
6


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Favorable outcomes =
3 1

4 6
 =

1

8

Total no. of outcomes = 
3 1 1 5

4 6 4 6
  

then,

P(E) 
1 1 3

8 8 8
1 5 8

8 24 24

  



56. A man is known to speak the truth 3 out of 5
times. He throws a dice and reports that it is ‘1’.
Find the probability that it is actually 1.

,d vkneh 5 esa ls 3 ckj lp cksyus ds fy, tkuk tkrk gSA og iklk
iQsdrk gS vkSj fjiksVZ djrk gS ;g 1 gSA bldh izkf;drk Kkr dhft,
fd ;g okLro esa 1 gSA

(a)
3

13
(b)

1

8

(c)
4

8
(d)

1

13
Sol: (a)

P(T)  
3

5
,                P(T) 

2

5

P(1)  
1

6
,                   P(1)  

5

6

Favorable outcomes = 
3 1

5 6


Total no. of outcome = 
3 1 2 5

5 6 5 6
  

Then,

P = 

1

10
1 1

10 3


 = 
30

10 13
 = 

3

13

57. A man speaks truth 2 out of 3 times He picks
one of the natural numbers in the set S = (1, 2,
3, 4, 5, 6, 7) and reports that it is even. The
probability that it is actually even is

,d vkneh 3 esa ls 2 ckj lp cksyrk gS og lsV S = (1, 2, 3, 4, 5,

6, 7) esa ls ,d izkd`frd la[;k pqurk gS vkSj fjiksVZ gS fd ;g le
gSA izkf;drk ;g gS fd ;g okLro esa le gSA

(a)
2

5

(b)
1

5

(c)
1

10

(d)
3

5

Sol.. (d)

P(T)  
2

3
,           P(T)  

1

3

P(even) 
3

7
         P(even)

4

7

Favorable outcomes =
2

3
×

3

7

Total no. of outcomes =
2

3
×

3

7
+

1

3
×

4

7

Then,

2
2 21 37P

2 4 7 10 5
7 21


  



58. A letter of the English alphabet is chosen at

random. Probabiliy of getting a vowel is.

vaxzsth o.kZekyk dk ,d v{kj ;kǹfPNd :i ls pquk tkrk gSA ,d
Loj vkus dh çkf;drk gSA

(a)
5

26
(b)

6

25

(c)
1

4
(d)

5

21

Sol: (a)

Total number of vowel in alphabet = 5

Total number of alphabet = 26

Probability of getting a vowel = 5/26

59. A letter is chosen at random from the letters of

the word 'ASSASSINATION". Find the probability

that the letter chosen is a vowel ?

'kCn 'ASSASSINATION" ds v{kjksa esa ls ,d v{kj ;kn`fPNd
:i ls pquk tkrk gSA bldh izkf;drk Kkr dhft, fd pquk x;k v{kj
,d Loj gS\

(a)
6

13
(b)

9

14

(c)
1

2
(d)

7

9

Sol. (a)

Favorable outcomes = 6

Total no. of outcomes = 13

Then,

P = 
6

13
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60. Two letters selected from the word ‘TENDULKAR’.

The probability that both are vowels is:

‘TENDULKAR’ 'kCn ls nks v{kj pqus x, gSaA nksuksa ds Loj gksus
dh D;k izkf;drk gS\

(a)
2

9
(b)

1

12

(c)
5

9
(d)

5

12

Sol. (b)

Favorable outcomes  = 3C
2

Total no. of outcomes = 9C
2

then,

P
3 3 1

9 8 36 12
2

  


61. A speaks the truth 5 times out of 7 and B speaks

8 times out of 9. What is the probability that they

will contradict each other in stating the same

fact?

A 7 essa ls 5 ckj lp cksyrk gS vkSj B 9 esa ls 8 ckj lp cksyrk
gSA D;k izkf;drk gS fd os ,d gh rF; crkrs le; ,d&nwljs dk
[akMu djsaxs\

(a)
1

4
(b)

1

9

(c)
1

3
(d)

1

7

Sol.. (c)

5

7

1

9

2

7
(P)

(P)

A B

(P)
8

9

(P)

They will contradict each other =
5 1 2 8

7 9 7 9
  


5 16 1

63 63 3
 

62. A speaks truth in 75% cases and B in 80% of the

cases. In what percentage of cases are they likely

to contradict each other narrating the same

incident ?

A 75% ekeyksa esa lp cksyrk gS vkSj B 80% ekeyksa esa lp
cksyrk gSA fdrus izfr'kr ekeyksa esa muds ,d gh ?kVuk dk o.kZu
djrs gq, ,d&nwljs dk [akMu djus dh izkf;drk gS\
(a) 5% (b) 15%

(c) 35% (d) 45%

Sol. (c)

A B

3 4
(P) (P)

4 5

1 1
(P) (P)

4 5

they will contradict each other 
3 1 4 1

4 5 5 4
  

= 
3 1 7

100
20 5 20

    = 35%

63. The probability of solving a problem by three
students A, B and C are 3/7, 5/9 & 1/5
respectively. What is the probability that the
problem is solved?

rhu Nk=kksa A, B vkSj C }kjk ,d leL;k dks gy djus dh izkf;drk
Øe'k% 3/7, 5/9 vkSj 1/5 gSA bldh D;k izkf;drk gS fd leL;k
gy gks tk;sxh\

(a)
64

315
(b)

32

315

(c)
251

315
(d)

155

315

Sol. (c)

P(A) =
3

7
       P(A)= 

4

7

P(B) =
5

9
      P(B) = 

4

9

P(C) =
1

5
      P(C)  = 

4

5

P =
4 4 4 315 – 64 251

1 –
7 9 5 315 315
   

64. In a class, there are 15 boys and 10 girls. Three
students are selected at random. The probability
that 1 girl and 2 boys are selected is:

,d d{kk esa] 15 yM+ds vkSj 10 YkM+fd;k¡ gSaA rhu Nk=kksaa dks ;kǹfPNd
:i ls pquk tkrk gSA 1 YkM+dh vkSj 2 YkM+dksa ds pqus tkus dh
izkf;drk D;k gS\

(a)
21

46
(b)

25

117

(c)
1

50
(d)

3

25

Sol. (a)
Favorable outcomes = 15C

2 
× 10C

1

Total no. of outcomes = 25C
3

then,

10 15
1 2

25
3

C C 15 14 10 15 14 5
P

2C 25 4 23
25 24 23

3 2

    
  

 
 



= 
3 7

2 23




 = 

21

46
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65. Four persons are chosen at random from a group
of 3 men, 2 women and 4 children. The chance
that exactly 2 of them are children is:

pkj O;fDr;ksa dks 3 iq#"kksa] 2 efgykvksa vkSj 4 cPpksa ds ,d lewg ls
;kǹfPNd :i ls pquk tkrk gSA izkf;drk gS fd muesa ls 2 cPps gSaA

(a)
1

9
(b)

1

5

(c)
1

12
(d)

10

21

Sol. (d)
Favorable outcomes  = 5C

2 
× 4C

2

Total no. of outcomes = 9C
4

then,

5 4
2 2

9
4

C C 5 4 4 3 10
P

4C 21
9 8 7 6

24

   
  

  

66. Five salesmen A,B,C,D and E of a company are
considered for a three member trade delegation
to represent the company at an international
trade conference. What is the probability that A
gets selected ?

,d daiuh ds ikap lsYleSu A,B,C,D vkSj E dks ,d varjjk"Vªh;
O;kikj lEesyu esa daiuh dk izfrfuf/Ro djus ds fy, rhu lnL;h;
O;kikj izfrfuf/eaMy ds fy, ekuk tkrk gSA A ds pqus tkus dh
izkf;drk D;k gS\

(a)
3

5
(b)

2

5

(c)
4

5
(d)

1

5

Sol. (a)
Favorable outcomes = 4C

2

Total no. of outcomes = 5C
3

then,

4
2

5
3

4×3
C 6 32P = = = =

5×4×3C 10 5
6

67. A cartoon consists of 100 shirts of which 88 are
good, 8 have minor defects and 4 have major
defects. Jimmy, a trader, will only accept the
shirts which are good, but Sujatha, another
trader, will only reject the shirts which have
major defects. One shirt is drawn at randomfrom
the carton. What is the probability that it is
acceptable to Jimmy?

,d ckWDl esa 100 dehtsa gSa ftuesa ls 88 vPNh gSa] 8 esa ekewyh
[kjkch gS vkSj 4 esa vf/d [kjkch gSA fteh] ,d O;kikjh] dsoy
vPNh dehtksa dks Lohdkj djsxk] ysfdu ,d vU; O;kikjh] lqtkrk]
dsoy mu dehtksa dks vLohdkj djsxk ftuesa vf/d [kjkch gSA
dkVwZu ls ,d 'kVZ ;kn`fPNd :i ls fudkyh tkrh gSA bldh D;k
izkf;drk gS fd ;g fteh dks Lohdk;Z gS\
(a) 0.69 (b) 0.99
(c) 0.77 (d) 0.88

Sol. (d)

Favorable outcomes  = 88

Total no. of outcome = 100

then,

88
P 0.88

100
 

68. There are 40 students in class X of a school of
whom 25 are girls and 15 are boys. The class
teacher has to select one student as a class
representative. He writes the name of each
student on a separate card, the cards being
identical. Then she puts cards in a bag and stirs
them thoroughly. She then draws one card from
the bag. What is the probability that the name
written on the card is the name of a boy?

,d Ldwy dh d{kk X esa 40 fo|kFkhZ gSa ftuesa ls 25 yM+fd;ka gSa vkSj
15 yM+ds gSaA d{kk f'k{kd dks d{kk izfrfuf/ ds :i esa ,d fo|kFkhZ
dk p;u djuk gSA og izR;sd fo|kFkhZ dk uke ,d vyx dkMZ ij
fy[krh gS] dkMZ ,d tSls gSaA fiQj og ,d FkSys esa dkMZ j[krh gS vkSj
mUgsa vPNh rjg ls feyk ysrh gSA og fiQj FkSys ls ,d dkMZ fudkyrh
gSA bldh D;k izkf;drk gS fd dkMZ ij fy[kk uke ,d yM+ds dk
gS\

(a)
2

7
(b)

1

4

(c)
1

3
(d)

3

8

Sol. (d)

Favorable outcomes = 15

Total no. of outcomes = 40

Then,

15 3
P

40 8
 

69. If a number x is chosen at random from the
numbers -2, -1, 0, 1, 2. What is the probability
that x2 < 2?

;fn la[;kvksa -2, -1, 0, 1, 2 esa ls ,d la[;k x dks ;kǹfPNd :i
ls pquk tkrk gSA izkf;drk D;k gS fd x2 < 2 gS\

(a)
3

5
(b)

2

5

(c)
1

6
(d)

2

5

Sol. (a)

Favorable outcomes = 2 2 23 i.e.(–1) ,(0) ,(1)

Total no. of outcomes = 5

then,

P
3

5

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70. A number x is selected from the numbers 1, 2, 3
and then a second number y is randomly selected
from the numbers 1, 4, 9. What is the probability
that the product xy of the two numbers will be
less than 9?
la[;k 1] 2] 3 esa ls ,d la[;k x pquh tkrh gS vkSj fiQj la[;k 1]
4] 9 esa ls nwljh la[;k y pquh tkrh gSA bldh D;k izkf;drk gS fd
nks la[;kvksa dk xq.kuiQy xy, 9 ls de gksxk\

(a)
5

6
(b)

4

5

(c)
5

9
(d)

1

2
Sol. (c)

Favorable outcomes = (1×1), (1×4), (2×1), (2×4),
(3×1) = 5
Total no. of outcomes = 9
then,

P = 
5

9

71. On the disc shown below, a player spins the arrow
twice. The fraction , - is formed, where a is the
number of the sector where the arrow stops after
the first spin and b is the number of sector where
the arrow stops after the second spin. On every
spin each of the numbered sector has an equal
probability of being the sector on which the arrow
stops. What is the probability that the fraction , -
is greater than 1?

uhps fn[kkbZ xbZ fMLd ij] ,d f[kykM+h rhj dks nks ckj ?kqekrk gSA

va'k
a

b
curk gS] tgk¡a a ml lsDVj dh la[;k gS tgk¡ rhj igys ?kqeko

ds ckn #drk gS vkSj b mlj lsDVj dhj la[;k gS tgk¡ rhj nwljs ?kqeko
ds ckn #drk gSA izR;sd ?kqeko ij Øekafdr {ks=k esa ls izR;sd eas ml
{ks=k ds gksus dh leku laHkkouk gksrh gS ftl ij rhj #drk gSA D;k

izkf;drk gS fd va'k 
a

b
1 ls vf/d gS\

(a)
5

11
(b)

2

13

(c)
5

12
(d)

5

18
Sol: (c)

6

1

2

3

4 

5

a 

ATQ,
Favorable outcomes  = (6,1), (6,3) (6,3), (6,4), (6,5)
(5,1), (5,2), (5,3), (5,4), (4,1), (4,2), (4,3)
(3,1), (3,2), (2,1) = 15
Total no. of outcome = 36

15 5
P

36 12
 
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